Algebra 2







Name: _________________________
Unit 11, Day 4







Date: ______________ Period: _____
IC 50 – 53:  Intro to Combinations
Recall from yesterday:
Permutations – ____________________ matters and no ________________________


[image: image7.wmf] is choosing and arranging ______ things from ______ things.
Example #1:  You go to a store called “27 Flavors.”  In how many ways can you order:
	a)  a two scoop cone (with repeats)
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b)  two scoop cone (without repeats)

	c)  3 scoop cone (with repeats)


	d)  3 scoop cone (with out repeats)

	e)  a two scoop bowl (without repeats)
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Part e:  There is no __________________ in a bowl.  This is called a _________________________.  In how many ways can you order a two scoop bowl (without repeats)?
Example #2:  Amy, Betty, Carla, Danielle, Erin, and Francis all try out for 2 places on the cheer squad.  
a) Suppose there were two positions (cheer leader and co–leader) that the girls were trying out for.  How many different ways can the positions be filled?

b) Suppose that the girls were going to be on a cheer committee.  Write out all the possible ways to choose 2 different girls.  (Be methodical!)











# of combinations: ______

Since order does not matter, this is not a ____________________________.  In part (b), we care about who is selected but we do not care about the order of the selection or any arrangement of the groups.  Selections of committees, or of subsets of items from a larger set without regard to the order of the group selected, are called ____________________________.

In example 2 part b:

# of combinations = ___________________________________ = ______________ = _________
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To win the California lottery, a person must choose the correct ________________________ of numbers; that is, choosing the correct 6 of 51 numbers.  (______________ does not matter.)  
a)  How many combinations of 6 numbers can be chosen from the list of 51?
[image: image6.wmf]
# of combinations = _________ = ___________________________ = __________________

b)  What is the probability of winning the lottery by choosing just 1 set of 6 numbers?

Five cards are drawn from a standard deck of 52 cards.  

a) Use permutation notation to calculate the number of choices for the 1st card, 2nd card, and so forth up to the fifth card.

b) How many ways can you arrange the five cards selected?  Write your answer both as a number and using a factorial.

c) Since order generally does not matter when playing cards, we need to divide out the number of repetitions of the same set of five cards.  Calculate the number of five card hands that can be selected from a deck of 52 cards.

# of combinations = 


Let’s summarize what we have learned thus far…

Factorials (  These count the number of ways to _______________ a group of objects in ____________.

Permutations (  These count ways to _______________ and _______________ a subgroup from a larger group.  ___________________ matters!  These are based on decision charts:  how many ways to pick the first object, times how many ways to pick the second, etc.

[image: image2.wmf]nr

P

 is _______________ and _______________ r things from n things.  
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 = __________

Combinations (  These count ways to just _____________ a subgroup from a larger group.

# of combinations = _______________________________________________


Examples:
	a)  Ten people are running for the prom committee.  In how many different ways can a committee of 4 be chosen? 


	b)  You go to an ice cream store called “29 Flavors.”  How many different ways can you order a 5 scoop bowl (without repeats)? 



	c)   Thirty employees are running for a union committee.  In how many different ways can a committee of 20 be chosen? 


	d)  Cody has 15 hard boiled eggs.  How many different ways can he select 6 eggs to decorate for a project? 




IC – 51





Total # of ways to arrange 6 #s out of 51 #s when order matters.





How many ways are there to arrange 6 numbers?





IC – 52 
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COMBINATIONS





� EMBED Equation.DSMT4  ��� represents __________________ r things from n things.  This is when ___________________ does NOT matter.  � EMBED Equation.DSMT4  ��� = __________ = ______________ = ______________ = ______________





Note:  There are _______ times as many permutations as combinations.  
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